|

!p(/mvferiw.

NoWe can find Hir plose constowt Srom whe wial

‘ Condinms Tor position aund velocity.

L ¢HosAcosd, | swid, o < - Do
{1)9,, =-wAsnt, ~Osdh, v W Lo

Lo=-5,0 1.9“02.: *‘3'?~3‘M/$

W =207 = %‘K rad/s

[' i ( 353 e/ )

\

ATz Yed/e) (- 5, 0umy

:-.—-bi"“' V"Ou.Q o —-%'\'[ Y‘Olcl.

!T\\m Yomg et Lot ckion repants 2wy 160°.  So Hie 2ne
[g,ﬂu.ays dwo ppssible. solutions eveducdigy e
’ﬁr“"ﬂ'ﬂ funotion. We can olkﬁngm‘:h betroten theme
[ becouse cun okjevf With O Nedar'e positionn y o
moing Fo the viglt 1's ln tha Hiird guodps of st |

.‘Wspmd-'my eyewdor ppofionn . The ﬁ:-%n red.

|
! ¥
Lb) Ak Bine A, tha Phase is ¢=wttbo=(F T rudp)e in

| Thie oyives $=-37 W&Orpub%-n rad , and £ vad ap

‘jmsywn‘% t=o0s obs, |.0s ond h5S.




!a)?wr\““is'zm |

rlqr J‘T.,-:%?,s'

,,Lb)Fw WMoss =3m [ i

T'=2—TYIE& J—Tp"““s,
| (c) The Pa.a& ‘o independent oF d.mp@nwdg

| Thes  J=Te=2006
1) Fov posping coustawy =2R

o ov=lzes/p)=hzes ;,"_."
A= l'“ﬁ' - k= l‘l) m = lumB (o 2°°\‘3)" g‘l"%

JH, o ral, P\ =2.0um. Sawbe - oMo 1
by w=2F =10 m'/c-rrv--T = oba8s
.m w =JE & k=muwt —@\esogihom"[s) 5.0 M
| Eh,:-—k"“’ R — e
| m Y i) =0 w\méuw i:‘ff) st 1 o
Vy#) =(=20,0 ufs) smll?_t-_ﬂ) , ol e
¥o= Lo  Voy = 1h14 auJ.s

Lm E\.owx, J"kA ll;\DM!M)l,c\ozm5 --Lquo ¥ :
_Lh) £=0%ve  \loy S ﬁzo\omjs)smE[lond/;)[g,a@p55 -l vh



1B, (o) T='F = 8,50
(b) wW=2%§ =4 vedls
FAE T V{Slv\s Gnergiy COV\%VVW
SRA*- ShyT+ L m Vo
Ro=5.0um Voy =20 amls and k=wud =0.2kq) (4T ved/s &
We aer A=6CShkum,
\d) Awsc%«,—% 5.9t

> $o =002 (2o 2045 Tad
ley The wadwmum Spend Vinay = WA =41 VDJ/!-)(E?‘FLMJ
= 69.b am/e

&) Owmax = w A= uufu.)A) =(47rvad/s ) [ bQb cufs) =BT5 emjc
L@,) otal ~1W\V'Mnx =4 L (0\200k3) (062 bw [o)* :
= 0.0A24-F |
Uh) Koy s = 550 owm) cos (4 czdi) (o409 t 0445 rad]
=+38\ an

lb)m‘\’ 2“57'# = Z'Wl = B‘T‘ﬁ =l.oe s

b w=2%/T =2V ee =27 rewl/s ;
1) Yo =Acosth S 005w =0low tosd, > d =TT vud |
Because the Mase = moving fo the Mgkt at =05, /'t's I
LN the lower M+ of the cirenlar Mohon  diagrem, Heuce,
& ="% T red, |
1) A =05 Vy[A) ==dowW) (2T vel/s) s [2TE+R ) '
becomes (- olow) [20vad/s) Sin(~ET vad] =044 w/s |
1e) ‘/'Mu = wA -_-.(21\- vad/e) [0,lp w) =0, 528 W/g ‘
12) t=\3 s Xws =[evow)cos[aw \3s) -7 vad ] = C.ope T

|

LLh) g =nie Vies) =-(0\ow)@m ved/k)siv [ 2T md)i35) - $Tved] |
=-0A4bT W



S

i S v o) :

A _ TD :L‘W& =kos
LQ) T‘;Tb = *‘O &, E
k) L=2lo T=2%/3 =J2Te=5bbs
(- wtinla, Teen/EE =R Taass

1d) T =4pos
50).
~ Relense low Bolut " Boutlibriuw
S
% _
0 ewr = T 2 e
\kqil‘rl-:-}ia«. e s I . RSP ¥ .
2T = ek ‘-j’— — = .
Tange of .
oo lation.

The equilibrium podnt 15 the polnt wheve e ase would
hm’\?s ot Yestr, itk Y =w=mg___A+ Yha a{u:hmm

poiws, “the spang 1o stietched by &Y =low =o|m. 3
Moocke's law is T = Kay, sotte e&u“\‘bﬂwm condition
Sg LFS? e Kb‘ﬂ-':\:\k)':\fhﬁl‘%“"\‘m s he QL%W\)sl__qg’S-z 3

A\I = b\\'h\

| : 3
- =§F‘%=§J%€‘ =| SRR Le o : :

-4

-




c4).

B

The wor Borce schng on ha uppa BlockR le tha forca of
Lriaron o\‘\md 4 Y Lowe~ ploek wa, The wedsel of stotic
Cricrton Oives the maimum Porce of- starc Trickton as
Lomay =Mett = Mg (M) =M Apaaye = Qnax = Ms G
.‘))s =05, Owmox ~Meq =(o S AR Wi = 44wz,

Two blocke will wide sogethac 1§ H i aceelatiog
ot Hha =|srew \‘7 \AD.Q}B Wlaﬁb‘t’\au Awax.

£ :
e AW %M WM{_’tU‘lQ
- @qMIS‘)(\.oka;\:E.Q:—g)— 0.5t W

50 Niw

a.w)e = Am

bt =27 % > L=4(3R) = < Bewe) (=
b)Y Comserohon OF nergw.
=mv" “f\%\'\ = Vox ~.J =24 Lll~cosD)

Jz_m w TSl (1-c085%)
= 0,449 w/g

-z.'w “7 5’} WA




l“” F\w*tm B i {10\]_) = Lg-wgfjjilzwli
—-L\ooo kg [w>) (4.8 ") L OW) oW [0S w)
=\2Ton,

Lb) T—w =Up = Sﬁmyaud Y)A\f_

‘&wﬁ“ﬂi—"! )L e
3wglol o
=< llooe ¥g[ud). L‘LB MI;‘)H;OQM) 10\‘«%)
= A D by
Ny
4'93 Meme ‘ww\fwna{ wplies $*q>\~:¢_e,@mhhum thh wi i
Wappen whon Sawg = Sw, “This woans

_ﬁ_— Ve + SaVh .
V‘Q.-'*\/a\ +Va .

o Mh _
Ve Z-%» =g zrﬂ@f ‘—"koﬁob'—%f'm

Cw =% _ \ooolR/uF — lcBoka/u> ’49\;\__%},?




‘ %ﬁs Y Fy:'\iﬁ,-'\'-w-:o %[:5 =T+w~.-.3—£“/
o yuT = gw V{‘bum.l. %=%g*m\fg?hu¢ﬁ
= §9p»w.:§.§w *-—-%;[woo €4 fud)
=TSok3fF
-

Ta f/ T\"‘ég\f\:*'g%'ﬁ=?=-+'=L.3V:'t§93;
A Ry d =R RIS d =25 (W)
Li?/ V\A’\""VzAx.‘%? V:.=M;§i‘~'=-2\‘;b “1./5

d=37 [U=W) = 0,282 wm




